(During July 2021-June 2022)

DEVELOPMENT			DATE OF		CORARAITEATER	(Figures in	EVCHANCE
DEVELOPMENT PARTNER	GRANT/LOAN	AGREEMENT TITLE	DATE OF SIGNING	CURRENCY	COMMITMENT AMOUNT	EQUIVALENT USD	EXCHANGE RATE
ADB	GRANT	Dhaka Environmentally Sustainable Water Supply Project - Additional Financing	1-Mar-22	USD	5.000	5.000	1.000
ADB	GRANT	Flood And Riverbank Erosion Risk Management Investment Program - Project 2	1-Mar-22	USD	17.890	17.890	1.000
ADB	GRANT	Capacity Development For Post Covid-19 Small-Scale Employment Creation	13-Dec-21	USD	0.900	0.900	1.000
ADB	GRANT	Emergency Assistance Project-Additional Financing Institutuinal Strengthening Of Roads And	29-Jun-22	USD	41.400	41.400	1.000
ADB	GRANT	Highways Department On Road Safety And Maintenance	3-Jan-22	USD	3.000	3.000	1.000
ADB	GRANT	Support For Health Care Improvement Project	29-Dec-21	USD	1.000	1.000	1.000
ADB	GRANT	Support To Southwest Area Integrated Water Resources Planning And Mangement Project-Additional Financing	28-Dec-21	USD	1.000	1.000	1.000
ADB	GRANT	Updating The Revised Strategic Trancport Plan For Dhaka ( Combined Financed Adb'S Ksta For 1 Million And Japan'S Jfpr For 2 Million, Leading Dp Is Adb)	16-Mar-22	USD	3.000	3.000	1.000
ADB	LOAN	Dhaka Environmentally Sustainable Water Supply Project 4124-Ban(Col) - Additional Financing	1-Mar-22	USD	50.000	50.000	1.000
ADB	LOAN	Emergency Assistance Project 4192- Ban(Col)-Additional Financing	29-Jun-22	USD	30.000	30.000	1.000
ADB	LOAN	Flood And Riverbank Erosion Risk  Management Investment Program -  Tranche 2 4107-Ban(Col)	1-Mar-22	USD	157.000	157.000	1.000
ADB	LOAN	Irrigation Management Improvement Project - Additional Financing 4120-Ban(Col)	23-Dec-21	USD	13.500	13.500	1.000
ADB	LOAN	Mff: South Asia Subregional Economic Cooperation Dhaka-Sylhet Corridor Road Investment Project-Tranche 1 4108-Ban(Ocr)	4-Oct-21	USD	400.000	400.000	1.000
ADB	LOAN	South Asia Subregional Economic Cooperation Integrated Trade Facilitation Program 4177-Ban(Col)	15-Jun-22	USD	90.000	90.000	1.000
ADB	LOAN	South Asia Subregional Economic Cooperation Integrated Trade Facilitation Sector Development Program 4178-Ban(Col)	15-Jun-22	USD	53.000	53.000	1.000
ADB	LOAN	Strengthening Social Resilience Program (Subprogram 2) 4187-Ban(Ocr)	14-Jun-22	USD	250.000	250.000	1.000
ADB	LOAN	Supporting Post-Covid-19 Small-Scale Employment Creation Projec 4142-Ban(Col)	29-Nov-21	USD	150.000	150.000	1.000
ADB	LOAN	Dhaka Environmentally Sustainable Water Supply Project 4126-Ban(Ocr) - Additional Financing	1-Mar-22	USD	85.000	85.000	1.000
ADB	LOAN	Mff: South Asia Subregional Economic Cooperation Dhaka-Sylhet Corridor Road Investment Project-Tranche 1 4115-Ban(Ocr)	4-Oct-21	USD	250.000	250.000	1.000
ADB Subtotal in	•	·		USD	1601.690		
ADR Grant Tota	al: Equivalent U	חכ				73.190	

(During July 2021-June 2022)

							es in Million)		
DEVELOPMENT	GRANT/LOAN	AGREEMENT TITLE	DATE OF	CURRENCY	COMMITMENT	EQUIVALENT	EXCHANGE		
PARTNER	l: Equivalent USI	<u> </u>	SIGNING		AMOUNT	USD 1528.500	RATE		
	: Equivalent USL					1601.690			
7.55 545 75147	. Equivalent 002					1001.030			
l		Preparation Of Madhunaghat-Bhulta 765 Kv							
AIIB	GRANT	Transmission Line Project	31-Aug-21	USD	3.290	3.290	1.000		
		Technical Assistance Project On Integrated							
AIIB	GRANT	Solid Waste Management Improvement	30-Sep-21	USD	2.000	2.000	1.000		
		Project (Special Fund)							
AIIB	LOAN	Construction Of Kewatkhali Bridge At	1-Nov-21	USD	200.000	200.000	1.000		
	LOAN	Mymensingh Project. L0163A	11101 21	030	200.000	200.000	1.000		
AIIB	LOAN	Idcol Multi-Sector On-Lending Facility.	26-Apr-22	USD	200.000	200.000	1.000		
		L0344A	·						
AIIB	LOAN	Sustainable Economic Recovery Program	22-Oct-21	USD	250.000	250.000	1.000		
AUD Cubtotal in	Curronau	(Subprogram1) L0528A		USD	655 300				
AllB Subtotal in	i currency al: Equivalent US	D		บรม	655.290	5.290			
	: Equivalent USI					650.000			
	Equivalent USD					<i>655.290</i>			
Tine Sub Totan	Equitaient 002					033.230			
		Construction Of Dhaka-Ashulia Elevated							
CHINA	LOAN	Expressway. 503	26-Oct-21	USD	1126.986	1126.986	1.000		
CHINA Subtota	l in Currency	1		USD	1126.986				
CHINA Grant To	otal: Equivalent	USD				0.000			
CHINA Loan To	tal: Equivalent L	JSD				1126.986			
CHINA Sub Tot	al: Equivalent U	SD				1126.986			
EIB	LOAN	Bangladesh Covid -19 Public Health	29-Dec-21	EURO	250.000	282.595	1.130		
		Programme, 93703					2.100		
EIB Subtotal in	•	_		EURO	250.000				
	l: Equivalent USI					0.000			
	Equivalent USD					282.595			
EIB SUD TOTAI: I	Equivalent USD					282.595			
		Promoting Justice For All: A More Inclusive							
EU	GRANT	And Effictive And Effictive Justice System In	31-Dec-21	EURO	38.000	42.954	1.130		
	GIVAIVI	Bangladesh	31-Dec-21	LONO	36.000	42.554	1.130		
EU Subtotal in (	Currency	bungladesii		EURO	38.000				
	: Equivalent USD					42.954			
	Equivalent USD					0.000			
EU Sub Total: E		•				42.954			
		Building Climate Resilient Livelihoods In							
FAO	GRANT	Vulnerable Landscapes In Bangladesh (Bcrl)	13-Mar-22	USD	8.934	8.934	1.000		
		Farmer'S Market-Safe Horticultural Crop							
FAO	GRANT	Production In Peri-Under Areas And	1-Jul-21	USD	0.260	0.260	1.000		
	0.0.0.0	Marketing In Dhaka City To Mitigate The		002	0.200	0.200	2.000		
		Impact Of Covid-19 Crisis							
		Increasing Capacities And Scale For					, ==		
FAO	GRANT	Anticipatory Action Including Through	23-Jun-22	USD	2.432	2.432	1.000		
		Social Protection Systems							
EAO	CDANT	Resilience Strengthening Through Agri-Food	20 Dan 24	LICE	4.000	4 000	1 000		
FAO	GRANT	System Transformation In Cox'S Bazar	30-Dec-21	USD	4.000	4.000	1.000		
1		Strengthening Sustainable Wetland							
1		0 0	13-Mar-22	USD	0.067	0.067	1.000		
EAO	CDANT		1.3-10141-//	บวบ	0.06/	0.06/	1.000		
FAO	GRANT	Agriculture For Resilient Farmers	20 22						
FAO	GRANT	Livelihoods And Ecosystems	10 1110. 12						
FAO FAO	GRANT	5	13-Mar-22	USD	0.175	0.175	1.000		

(During July 2021-June 2022)

					***************************************	(Figures in	
DEVELOPMENT PARTNER	GRANT/LOAN	AGREEMENT TITLE	DATE OF SIGNING	CURRENCY	COMMITMENT AMOUNT	EQUIVALENT USD	EXCHANGE RATE
FAO	GRANT	Technical Support To Deploy Digitalization Programs In Food And Rural Sectors And Facilitate Digital Village Polots In Support Of Rural Transformation And Achievement Of Sdg 1 And 2	13-Mar-22	USD	0.122	0.122	1.000
FAO Loan Total	n Currency al: Equivalent US l: Equivalent USI <i>Equivalent USI</i>	D		USD	15.990	15.990 0.000 <b>15.990</b>	
FRANCE (AFD)	GRANT	Health Bs Fexte	31-Dec-21	EURO	0.660	0.746	1.130
FRANCE (AFD)	LOAN	Dhaka Environentally Sustainable Water Supply (Deswsp), Cbd103201T	11-Oct-21	EURO	130.000	150.767	1.160
FRANCE (AFD)	LOAN	Energy Efficiency, Renewable Energy And Women Entrepreneurship Linked Project,Cbd103101S	8-Dec-21	EURO	50.000	56.519	1.130
FRANCE (AFD)		Vaccination And Health Sector Budget Support, Cbd105101U	11-Oct-21	EURO	200.000	231.950	1.160
FRANCE (AFD) ( FRANCE (AFD) L	Subtotal in Curr Grant Total: Equ Loan Total: Equi <b>Sub Total: Equi</b>	uivalent USD ivalent USD		EURO	380.660	0.746 439.236 <b>439.982</b>	
GERMANY (KFW/GIZ)	GRANT	Climate Resilient Inclusive Smart Cites (Crisc)	15-Nov-21	EURO	5.000	5.709	1.142
GERMANY (KFW/GIZ)	GRANT	Impreoved Coordination Of International Climate Finance (Icicf) (Proposal Submitted)	1-May-22	EURO	3.500	3.703	1.058
GERMANY (KFW/GIZ)	GRANT	Program For Sustainablity In The Textile And Leather Sector (Stile)	8-Jul-21	EURO	8.000	9.458	1.182
GERMANY (KFW/GIZ)	GRANT	Strengthening Access To Justice And Legal Reforms (Sajler)	13-Dec-21	EURO	8.170	9.235	1.130
GERMANY (KFW/GIZ)	GRANT	Supporting Host And Forcible Displaced Myanmar Nationals Communities (Shfdmnc)	13-Dec-21	EURO	8.000	9.043	1.130
GERMANY (KFW/GIZ)	GRANT	Urban Climate Resilient Infrastructure Project (Ucrip)	3-Mar-22	EURO	0.730	0.804	1.101
GERMANY (KFW/GIZ)	LOAN	Modernization Of Power Distribution Smart Grid Phase I, 201667971	25-Oct-21	EURO	120.000	139.170	1.160
GERMANY (KFV GERMANY (KFV	N/GIZ) Loan Tot	in Currency otal: Equivalent USD cal: Equivalent USD al: Equivalent USD		EURO	153.400	37.952 139.170 <b>177.122</b>	
GFATM/GLOBA	. GRANT	A Path To The Phased Elimination Of Malaria From Bangladesh Integrated Tuberculosis Care And	11-Feb-22	USD	20.260	20.260	1.000
GFATM/GLOBA	GRANT	Prevention For Enhancing Case Findings, Health System Strengthening And	22-May-22	USD	23.456	23.456	1.000
GFATM/GLOBA	GRANT	Sustainabilty 0.000	12-Feb-22	USD	9.540	9.540	1.000
GFATM/GLOBA	GRANT	Prioritized Hiv Prevention Services For Key Populations (Pwid, Fsws, Msm, Msws And Hijra) In Bangladesh" (Additional Funding)	17-Apr-22	USD	0.543	0.543	1.000
GFATM/GLOBA GFATM/GLOBA	L FUND Loan To	al in Currency Fotal: Equivalent USD otal: Equivalent USD otal: Equivalent USD		USD	53.799	53.799 0.000 <b>53.799</b>	

(During July 2021-June 2022)

DEVELOPMENT			DATE OF		CONTRACTO	(Figures in	
DEVELOPMENT PARTNER	GRANT/LOAN	AGREEMENT TITLE	DATE OF SIGNING	CURRENCY	COMMITMENT AMOUNT	EQUIVALENT USD	EXCHANGE RATE
GPE	GRANT	Bangladesh: Additional Financing For Quality Learning For All Program	30-Jun-22	USD	53.900	53.900	1.000
GPE Subtotal ii	•			USD	53.900		
	al: Equivalent U					53.900	
GPE Loan Tota	I: Equivalent US	5D				0.000	
GPE Sub Total:	: Equivalent USI	D				53.900	
IDA	GRANT	Clean Technology Fund ( Electricity Distribution Modernization Project) Accelerating And Strengthening Skills For	29-Jun-22	USD	15.000	15.000	1.000
IDA	LOAN	Economic Transformation Project (Asset) Ida 6874	16-Oct-21	SDR	211.700	298.997	1.412
IDA	LOAN	Chattrogram Water Supply Improvement And Sanitation Project-Ii, Project Preparation Advance (Ppa) No. Ida V401-Bd	30-Dec-21	USD	1.700	1.700	1.000
IDA	LOAN	Climate Smart Agriculture And Water Management Project. Ida 6836	15-Mar-22	USD	120.000	120.000	1.000
IDA	LOAN	Electricity Distributionmodernization Program (Edmp) Ida 7021	29-Jun-22	USD	500.000	500.000	1.000
IDA	LOAN	Enhancing Digital Government And Economy Project. Ida 6675	9-Jan-22	EURO	271.300	307.387	1.133
IDA	LOAN	First Recovery And Resilience Development Policy Credit (Dpc) Ida 7065	18-Apr-22	SDR	179.300	245.093	1.367
IDA	LOAN	Recovery And Advancement Of Informal Sector Employment (Raise) Project. Ida 6841	26-Oct-21	SDR	138.900	196.177	1.412
IDA Subtotal in	n Currency			USD	636.700		
IDA Subtotal ir	•			SDR	529.900		
IDA Subtotal ir	•			EURO	271.300		
	al: Equivalent US					15.000	
	: Equivalent USI					1669.355	
IDA SUB TOLUI:	Equivalent USL	,				1684.355	
IDB	GRANT	Inclusive Sanitaiton And Hygine Project In 10 (Ten) Priority Towns In Bangladesh.	20-Feb-22	USD	19.600	19.600	1.000
IDB	LOAN	Inclusive Sanitation And Hygiene Project In 10 Priority Towns In Bangladesh, Bgd1066	20-Feb-22	USD	36.400	36.400	1.000
IDB Subtotal in	Currency			USD	56.000		
IDB Grant Tota	nl: Equivalent US	SD				19.600	
IDB Loan Total	: Equivalent USI	D				36.400	
IDB Sub Total:	Equivalent USE	)				56.000	
IFAD	GRANT	Smallholder Ageicultural Competitiveness	19-Aug-21	USD	2.007	2.007	1.000
IFAD Subtotal i	in Currency	Project (Sacp)		USD	2.007		
	tal: Equivalent U	ISD		030	2.007	2.007	
	al: Equivalent U					0.000	
	l: Equivalent US					2.007	
ILO	GRANT	Asian Regional Child Labour Program (Arc)	10-May-22	USD	0.680	0.680	1.000
ILO	GRANT	Employment Retention Through Subsidy Disbursement For Rmg Factory Workers In Bangladesh	27-Apr-22	USD	3.830	3.830	1.000
ILO Subtotal in	Currency	<u> </u>		USD	4.510		
	- 1						

(During July 2021-June 2022)

						(Figures in	
DEVELOPMENT PARTNER	GRANT/LOAN	AGREEMENT TITLE	DATE OF SIGNING	CURRENCY	COMMITMENT AMOUNT	EQUIVALENT USD	EXCHANGE RATE
	l: Equivalent US	SD SD	Sicitific		AMOONI	4.510	IUTIE
	: Equivalent USI					0.000	
	Equivalent USE	•				4.510	
	•						
INDIA	GRANT	Construction Of Fine Arts Faculty Building At Jahangirnagar University	15-Dec-21	USD	5.770	5.770	1.000
INDIA Subtotal	in Currency			USD	5.770		
INDIA Grant To	otal: Equivalent	USD				5.770	
INDIA Loan Tot	tal: Equivalent l	JSD				0.000	
INDIA Sub Tota	al: Equivalent U	ISD				5.770	
IOM	GRANT	A Comprehensive Counter Trafficking Program To Address Human Trafficking In Bangladesh.	30-Dec-21	USD	5.760	5.760	1.000
IOM Subtotal i	n Currency			USD	5.760		
IOM Grant Tota	al: Equivalent U	ISD				5.760	
IOM Loan Tota	l: Equivalent US	SD .				0.000	
	: Equivalent US					5.760	
		Provision Of Continous Positive Airway Pressure (Cpap) And Bi-Level Positive					
ITFC	GRANT	Airway Pressure (Bipap) Equipments For Public Hospitals In Bangladesh Under Covid-	9-Mar-22	USD	0.050	0.050	1.000
ITFC Subtotal in	n Currency	19 Restore Program		USD	0.050		
	al: Equivalent U	ISD		035	0.030	0.050	
	l: Equivalent US					0.000	
	: Equivalent US					0.050	
	. Equitaient 00					0.030	
JAPAN	GRANT	The Project for Improvement of Metarological Radar system in Dhaka & Rangpur	28-Jun-22	JPY	128.000	0.956	0.007
JAPAN	GRANT	The Fourth Primary Education Development Program (Pedp-4)	25-Oct-21	JPY	500.000	4.423	0.009
JAPAN	GRANT	The Project For Human Resource Development Scholarship (Jds Project)	22-Dec-21	JPY	462.000	4.061	0.009
JAPAN	GRANT	The Project For The Improvement Of Government Research And Training Facilites	22-Dec-21	JPY	2429.000	21.349	0.009
JAPAN	LOAN	Dhaka Mass Rapid Transit Development Project (Line5 Northern Route)(Ii),Bd-P121	28-Jun-22	JPY	133399.000	996.631	0.007
JAPAN	LOAN	Dhaka Mass Rapid Transit Development Project(V), Bd-P119	29-Mar-22	JPY	18285.000	154.627	0.008
JAPAN	LOAN	Southern Chattagram Regional Development Project, Bd-P120	28-Jun-22	JPY	32462.000	242.525	0.007
JAPAN	LOAN	Covid -19 Crisis Response Emergency Support Loan Phase-2, Bd-C22	22-Nov-21	JPY	40000.000	350.813	0.009
JAPAN Subtota	l in Currency			JPY	227665.000		
JAPAN Grant To	otal: Equivalent	USD				30.790	
JAPAN Loan To	tal: Equivalent	USD				1744.596	
JAPAN Sub Tot	tal: Equivalent (	USD				1775.386	
NETHERLAND	GRANT	Water As Leverage, Natural Drainage	27-Dec-21	EURO	0.893	1.009	1.130
NETHERIANDO	Subtotal in Cor	Solution For Khaulna City		EURO	0 003		0.000
	Subtotal in Cur Grant Total: Ec	•		EUKU	0.893	1.009	0.000
	Loan Total: Eq					0.000	
	Sub Total: Equ					1.009	
INL I HERLANDS	Jub Total: Equ	iivaiciil UJU				1.009	

(During July 2021-June 2022)

DEVELOPMENT PARTNER	GRANT/LOAN	AGREEMENT TITLE	DATE OF SIGNING	CURRENCY	COMMITMENT AMOUNT	EQUIVALENT USD	EXCHANGE RATE
.,			0.0		7		10112
OPEC	LOAN	Sustainable Economic Recovery Program (Serp) Loan No_15211P	14-Feb-22	USD	75.000	75.000	1.000
OPEC Subtotal	in Currency			USD	75.000		
	tal: Equivalent					0.000	
	al: Equivalent l						
OPEC Sub Tota	ıl: Equivalent U	ISD				75.000	
SOUTH KOREA	LOAN	Program Loan For Sustainable Economic Recovery Program (Subprogram 1) Loan	20-Dec-21	USD	100.000	100.000	1.000
SOUTH KOREA	Subtotal in Cur	No_Bgd-29		USD	100.000		
SOUTH KOREA		•		035	100.000	0.000	
SOUTH KOREA						100.000	
SOUTH KOREA	•					100.000	
SWITZERLAND /SDC	GRANT	Digitalization Of The Bhomra Land Port	31-Dec-21	CHF	1.050	1.140	1.086
	/SDC Subtotal i			CHF	1.050		
	•	al: Equivalent USD				1.140	
		ll: Equivalent USD					
SWITZERLAND	/SDC Sub Tota	l: Equivalent USD				1.140	
THE UNION							
(VITAL	GRANT	Technical Support For Improvement In	1-May-22	USD	0.160	0.160	1.000
STRATEGIES)	GRAINT	Bangladesh Phase-4	1-1VIA y-22	030	0.100	0.100	1.000
	'ITAL STRATEGI	ES) Subtotal in Currency		USD	0.160		
•		ES) Grant Total: Equivalent USD				0.160	
-		ES) Loan Total: Equivalent USD				0.000	
THE UNION (V	ITAL STRATEG	IES) Sub Total: Equivalent USD				0.160	
		Remittance For Development In Bangladesh					
LINCOF	CDANIT	(R4Db) Promoting Innovation In Cross	26 1 22	LICD	4.056	4.056	4 000
UNCDF	GRANT	Border Remittance In Maximizing The Development Impact Of Migration	26-Jun-22	USD	1.856	1.856	1.000
UNCDF	GRANT	Women'S Impowerment For Inclusive Grouth (Wing)	21-Oct-21	USD	1.040	1.040	1.000
UNCDF Subtot	al in Currency			USD	2.896		
UNCDF Grant 1	Гotal: Equivaler	nt USD				2.896	
UNCDF Loan To	otal: Equivalent	t USD				0.000	
UNCDF Sub To	tal: Equivalent	USD				2.896	
		Local Covernment Initiative Co. Climat					
UNDP	GRANT	Local Government Initiative On Climate Chalge (Logic) 2Nd Revised	29-Sep-21	USD	37.510	37.510	1.000
UNDP	GRANT	National Resilience Programme (Nrp)	30-Dec-21	USD	1.150	1.150	1.000
UNDP	GRANT	Strengthening Inclusive Development In Cht	27-Oct-21	USD	58.370		1.000
		(Did-Cht) 1St Revised	27 000-21			33.370	1.000
UNDP Subtota		LICE		USD	97.030	0= 00=	
UNDP Grant To	•						
UNDP Loan To <b>UNDP Sub Tot</b>							
ו מטג ישעאט ו סנוט	ui. Eyuivaient (	טנט				37.030	
		Small-Scale Funding Agreement (Dsfa) For					
5	CD 441=	The Project' Support Ot Preparation Of The	466.6			2 25 -	
UNEP	GRANT	Furth National Biosafety Reports To The	16-Sep-21	USD	0.030	0.030	1.000
		Cartagena Protocol Biosafety-Adia-Pacific,					
		Grulac, Central And Eastern Europe Gegions				0.000 75.000 75.000 100.000 100.000 1.140 1.140 0.160 0.160 0.160 1.856 1.040 2.896 0.000 2.896	
<b>UNEP Subtotal</b>	in Currency			USD	0.030		

(During July 2021-June 2022)

DEVELOPMENT PARTNER	GRANT/LOAN	AGREEMENT TITLE	DATE OF SIGNING	CURRENCY	COMMITMENT AMOUNT	EQUIVALENT USD	EXCHANGE RATE
UNEP Grant To	otal: Equivalent	USD				0.030	
UNEP Loan To	tal: Equivalent L	SD				0.000	
UNEP Sub Tota	al: Equivalent U	SD				0.030	
UNESCO	GRANT	Research Study On Open Science And Digital Inclusion Across Its Opportunities And Challenges In Bangladesh	29-Aug-21	USD	0.005	0.005	1.000
UNESCO Subto	otal in Currency			USD	0.005		
UNESCO Grant	Total: Equivale	nt USD				0.005	
	Total: Equivalen					0.000	
UNESCO Sub T	otal: Equivalent	USD				0.005	
UNFPA	GRANT	Strenthening Parliament'S Capacity In Integration Of Population And Development Issues (Spcpd), 01.03.2022-31.12.2026	1-Mar-22	USD	0.500	0.500	1.000
<b>UNFPA Subtot</b>	al in Currency			USD	0.500		
UNFPA Grant	Гotal: Equivalen	USD				0.500	
UNFPA Loan T	otal: Equivalent	USD				0.000	
UNFPA Sub To	tal: Equivalent	USD				0.500	
UNICEF	GRANT	Outcome 1: Health	3-Mar-22	USD	24.518	24.518	1.000
UNICEF	GRANT	Outcome 2: Nutrition	30-Mar-22	USD	14.727	14.727	1.000
UNICEF	GRANT	Outcome 3: Edcuation	20-Feb-22	USD	11.809	11.809	1.000
UNICEF	GRANT	Outcome 4: Child Protection	18-Apr-22	USD	11.314	11.314	1.000
UNICEF	GRANT	Outcome 5: Wash	29-Mar-22	USD	8.765	8.765	1.000
UNICEF	GRANT	Outcome 6: Social Protection And Social Policy	2-Jan-22	USD	1.249	1.249	1.000
UNICEF	GRANT	Outcome 7: Programme Effectiveness (Emergency Coordination And Field Services)	17-Apr-22	USD	1.599	1.599	1.000
UNICEF	GRANT	Outcome 7: Programme Effectiveness (Social And Behaviour Change)	9-Feb-22	USD	4.324	4.324	1.000
UNICEF Subtot	al in Currency	, ,		USD	78.305		
UNICEF Grant	Total: Equivalen	t USD				78.305	
UNICEF Loan T	otal: Equivalent	USD				0.000	
UNICEF Sub To	tal: Equivalent	USD				78.305	
LINIODO	CDANIT	Global Action To Prevent And Address	24.11. 24	.ucp	2.240	2 2 4 0	1 000
UNODC	GRANT	Trafficking In Persons And The Smuggling Of Migrants-Bangladesh	21-Nov-21	USD	2.240	2.240	1.000
UNODC Subto				USD	2.240		
	Total: Equivalen					2.240	
	otal: Equivalent					0.000	
UNODE Sub 16	otal: Equivalent	USD				2.240	
		Bangladesh Climate-Resilient Infrastructure					
UNOPS	GRANT	And Nature-Based Solutions Investment Assessment	2-Aug-21	USD	0.560	0.560	1.000
UNOPS	GRANT	Diagnostic Trade Internaitonal Study	29-Nov-21	USD	0.220	0.220	1.000
UNOPS Subtot	al in Currency	Update (Dtisu) Of Bangladesh		USD	0.780		
	arın currency Total: Equivalen	t USD		טטט	0.780	0.780	
	otal: Equivalent					0.000	
	tal: Equivalent					0.780	

(During July 2021-June 2022)

DEVELOPMENT PARTNER	GRANT/LOAN	AGREEMENT TITLE	DATE OF SIGNING	CURRENCY	COMMITMENT AMOUNT	EQUIVALENT USD	EXCHANGE
PARTNER			SIGINING		AMOUNT	עפט	RATE
USA/USAID	GRANT	Development Objective (Doag)=1St, 2Nd, 3Rd Amendment	27-Sep-21	USD	209.965	209.965	1.000
USAID Subtota				USD	209.965		
	otal: Equivalent					209.965	
	tal: Equivalent (					0.000	
USAID Sub Tot	al: Equivalent L	JSD				209.965	
		Common Services To Humanitatrian And					
		Development Focus Area Crisis Response					
WFP	GRANT	(Strategic Outcome 4 And Activities 4)- Project Aid	30-Nov-21	USD	154.910	154.910	1.000
		Self Reliance Assistance To Crisis-Affected					
WFP	GRANT	Populations (Strategic Outcome 1 And Activities 1)-Project Aid	30-Nov-21	USD	1302.054	1302.054	1.000
WFP	GRANT	To Strengthen Their Capacity To Design And Implement Gender Sensitive Safety Net Programmers And Response To Protect The Food Security And Nutrition Of Focus Area Resilience Building) (Strategic Outcome 3 And Activities 3)-Project Aid	30-Nov-21	USD	7.682	7.682	1.000
WFP	GRANT GRANT	In Strengtnen Ineir Capacity 10 Design And Implement Gender Sensitive Safety Net Programmers To Meet The Children And Vulnerable Groups. (Focus Area Root Causes) (Strategic Outcome 2 And Activities 2) Project Aid Self Reliance Assistance To Crisis-Affected Populations (Strategic Outcome 1 And Populations (Strategic Outcome 2 And Populations (	30-Nov-21 30-Nov-21	USD	5.395 80.000	5.395 80.000	1.000
VVIF	GRAINT	Populations (Strategic Outcome 1 And Activities 1)-Food Aid	30-1107-21	030	80.000	80.000	1.000
WFP	GRANT	To Strengthen Their Capacity To Design And Implement Gender Sensitive Safety Net Programmers And Response To Protect The Food Security And Nutrition Of Focus Area Resilience Building) (Strategic Outcome 3 And Activities 3)-Food Aid	30-Nov-21	USD	30.000	30.000	1.000
WFP	GRANT	To Strengthen Their Capacity To Design And Implement Gender Sensitive Safety Net Programmers To Meet The Children And Vulnerable Groups. (Focus Area Root Causes) (Strategic Outcome 2 And Activities 2)-Food Aid	30-Nov-21	USD	40.000	40.000	1.000
WFP Subtotal i	in Currency	•		USD	1620.041		
WFP Grant Tot	al: Equivalent U	ISD				1620.041	
WFP Loan Tota	al: Equivalent US	SD				0.000	
	l: Equivalent US	D				1620.041	
Grant Total: Ed						2381.410	
Loan Total: Eq						7791.838	
GRAND TOTAL						10173.247	